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His body is not sanctified — WP RY 719D

OVERVIEW

21 taught if one is w>7pn his slave (he said, ‘my slave should be w7p’), the slave is
freed. The & mx explains the reason is because w7 X% 19 (the body is not
sanctified) and “nKXp X2 "»77 (the master did not say that I am w>7p» him for his
value). There is a dispute between >"w7 and Moo how two explain these two
reasons.

There are three types of 2°n7 nw17? (which are not brought as a 127) which are
discussed in this MooIN.

1. 027 P72 NP where the item itself is used to repair or improve the "2 (such
as being w7pn stones, wood, etc.).

2. 7om°% wTp, where the item itself cannot be used directly to repair the P"»7°2, but
the 12 sells the item (a 01 N9¥2a 7nia) and the money is used for 7"72.

3. %%y vn7, where the person says, ‘I am donating to the p"n7°a the value of this
item’; the item (which does not necessarily need to belong to the 7711), remains in
the possession of the owner, but whoever made this 771 must pay w7ps its value.

— 11537 P12 XYY NAMY MR 1PRY “DIVNPI WO
“""w+ explained that w7 X2 7913, for the 72V is not fit either for the 2 (to be

brought as a 127p) nor is he fit for the n°a77 »72; >"w continues explaining the X773, we

cannot say he meant to give w7p: the value of the slave, for -
— Y Y73y 997 MY 1D NINT NP NY MTY

He did not say I am obligating myself to pay v7pi the value of this slave, for if
that was his intention, the master should have said, I am giving to w777 the value

of my slave. >"v1 continues responding to an anticipated question -
— INP YITP O 1H1N912T 91999D XIIDT 1190 DNNT NNV NNN WITPNRY 9T XD

And the case of 72V is not similar to one who is ws7pn a 8»w 7273 (where the
rule is that he has to pay w7pn the value of the Axnv 77273; however we do not say
this regarding 172y w>7pnn), for there (by Xnv 7nA2 WIPNHI) since we cannot say

that the master meant that the 7172 should be part of the w7 @y, therefore -
— NP 191999 NYITP KON 97 I9Y 1T IR NYT 23 5Y 9N MNP 1Y 99 by

Doy 0"y 7o ,om 7.

2 When one is w>7Pn wood or stones they can be used to repair the p"»7°2; however, the 72y (himself) cannot be used

for the repair or improvement of the p"ni"2.

3 Seemingly this 7> (regarding a Axnv A»72), which means 72»°% w17 is not the same as the "»72 mentioned
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Perforce we must say that he meant to be v7p» its value, even though he did
not say, ‘I am giving its value’, nevertheless it is understood that he meant, ‘the

animal is 27 in order to sell it (and give its value to w7pn) -
— “a1Np 919197 19998 RY NYITH PYUY 799132 XIPWT NI YaN

However here where the 7uy7p is applicable to the body of the 72v (he can
become a part of the v17? 0V), we do not assume that he meant to be v 7pn

merely the value of the slave, rather he meant the slave should be holy as part of the w17p ov.
This concludes moo1N citation of >"wA.

MooIn asks on *"wo:
— SRR RIPINK RNYIIT 1159 TIRD N 991059 WITH 593 9NP KY INANI IR ON)

And if you will say; but why did not the X »2 also explain that the master did
not mean that the 72y is w72 to be sold; the X723 should have explained this
since this is a different issue —

MDoIN answers:
— MMIINY RN 991950 YITH RNPY NITNA 19 99N 199RT 71902 DI0NP Y971 9910 U
And one can say; as > explains shortly® that even if he said so explicitly
that the 72y should be w7P so that he should be sold; the 72¥ goes free -

— 09YY Nt 11N PPN PPNT NN 17125 0995 ©VXONNIN MNT YN
For it is similar to one who designates whole [unblemished] animals for 73''73,

where the rule is they never leave the sanctity of the 172t (they are to be brought as
N137p), similarly here since according to 27 when he is w>7pn his 72y, the 72V is fit to become
part of W1Tp av (similar to a 7n N A2 which is mam? 7MR7), so even if he says 79w°% wTp
(which is similar to 7"72% 0°»°»n 0°0nn) the 72v becomes free, part of w1Tp v (just like the N
are not 0?1YH 1AM TN RXY) -

— 19D PYITP 1DPY 9INT 1D 1921 PRT NINN 2P KXY 191D

previously regarding 7nXp R? 177 (concerning the 72v) which means *2¥ ;7 72v °»n7. They are similar in the sense that
there is no intrinsic 7W17P on the M7 there is merely a 1n 210 to wIPn (either directly from the nnma [if Awip
1om°7], or indirectly [if *7v 1na17].
* When there is no option of saying Kp WP oY "1 (as by nXknv 02 wrIpn), we assume that he meant 172 (even
though he did not say *n7%) in the sense of 132°2 W17p; however when there is the option of IRp W7p QY "7 (as by
172Y w>7pn), then we would rather say that he meant w17p av than °n7> (since he did not say "»n7?).
> There are actually three issues to be negated in order to assume that M"r> X% 172y w>Tpna. There is the issue of
nam and 7"72 which is negated since the 72¥ is not "7 (for n2m and 7"72), there is the issue of the owner paying
w7pn the value of the 72y (which is called °n7%), this is negated because the master did not say °n77; however there is
the issue of selling the 72¥ and the money going to w7pi, why was this issue not mentioned (and negated because he
did not say 191> w17p [just as we negated n7°])?
6% 7"72. If the X3 would have negated 79m°> w1Tp by saying InXp X 191°% w17p, that would imply that if the master
said 1om°2 17p he would not go free, however in truth even if he said 1917 w17p the 72¥ is freed.
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And therefore the X723 does not establish that Xn»72 of 19921a7 98 in a case
where for instance the master said regarding his slaves that they should be 2P
for their value (meaning 2o»°% w17p),” for even if he said so, they still go free.

In Summation: *"wA interprets w*Tp X 199 to mean that the 72y is not fit for the nam or 71"72.% 75
Inxp X2 means the master did not say that he wants to give w7pi the value of the 72v.” Therefore
the 72V is freed even if the master said he is 79n% w1Tp, for it is similar to 7"72% o°man 0o, '°

mooIn has a difficulty with >"w7s:
— 01299 ©29NIY 1391972 INRT NYP 1791
However there is a difficulty; if we are comparing 172V w>7pn to 2%a%%n o%enn -
— Mnan 9129 15127 1995 195195 7598 MIONY RS TNV 59 Yy GNT NS
Let us say that even though the slave is freed, he still requires redemption and

the redemption money should be allocated for the 7''72 -
— (x,np M) 020N HININDA )1IPI9INTI 2nat 999989 991290Y DN ©9NN1 1199

Just as it is by 2 an o3pn» for the 7"72 where the rule is that the animal is sold

for usage on the 12, as the X7n) states in 22917 NIRRT PO -
— N3N PTAY BN DTN NAMIY NIN 19793 PPN 19193 )AYD

That when they (the o°»°nn that were 77"72% 09n1) are redeemed they can only be
redeemed for use of the 21 and the money paid for the redemption goes to the
772 -

— WY MUY 11 PHYn X9a NIAY 59 9Y NT ()97 DNNT NP D993 9INTS

" The x 3 contradicted 21 from the Xn»™93 of 77217 1R (and answered that 2991 Rin 27). The X773 seemingly could

have answered that the Xn>>"2 is discussing where he said 19> w17p (even though the Xn>>2 could not answer 177

[as the &3 states], nevertheless if it was 73%°% w1Tp the 1121 are (seemingly) involved in the sale).

¥ Therefore since the master was w>7pn the 72y, he must have meant WP oy 17715,

% If the master would have said "9y 1»7, the 7T2v would remain enslaved and the master would pay w7pi the value of

the slave. See following footnote (in parenthesis).

' An 72 has the potential of becoming an wYTp oy just as a 2720 a2 has the potential of being a 7137 NWITP — 1277

Therefore just like by a nnma if one is w*7pn it for (7"72) 27 NP it receives (J12177) 717 Nw1TR, similarly if one is

wTpn the 72y for (19m°% W1TR) 017 NWITR he receives w1Tp oy "R A nunTp. (However, if he merely said "2y 117,

there is no 7w17P at all on the 72¥; it is merely a 771 on part of the master that he will give a certain amount.)

' When the master is w>7pn the 72y the 72y is freed, but there is a monetary obligation to redeem the value of the 72y

for the obligation to 71"72 (which the master placed upon him). The freed 72¥ should be required to give this money

(the value of the 72y) to the 71"72 as M0 continues to explain. See following footnote [in the brackets].

2t 1287 (for instance) was W>7pn a 7m0 anna for N2 272 the rule is (as mentioned previously) it must be brought

as a 121p. If nwnw (for instance) wants to bring a j27p7 he can redeem this 772 (which 123X was 71"72% w>7pn) by

paying the 1212 of 7"72 the value of this 772 and then bring it as a 127p. [The 72y is like 1'w»w in this example.]

" The nwyn X is derived from the (33,25 [R] ®p*1) 7109 in the 7w of o°mn *2¥2 N2 where the 770 writes

regarding a o1 Hv2 that (n°27 P72%) MR AwYN 7271 but 7739 (for a 127p) it is A% X9, from this we derive that only a

01 %¥2 can be given to 7"72, but not a 2°»n and from the (17,25 ow) 109 in the beginning of that 7w o, which states
3
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As the X771 states in the first P2 of 77920 noon, that even though the one who

was 11"727 0 N 000 transgressed a wyn XY, nevertheless what is done is done
and 7"72 receives the 17 money. Similarly the same should be true here as well that the 175

money for the 72¥ should go to 7"72 -
— 14\’)‘1‘,7115 097 DIV 1NN 1N MNP WITP OY MNODT ¥IYN NIINID

But seemingly it appears from our X7 that the master meant that the 72V

should be 217 2y, but no money needs to be given to WP, The question is why is
there a difference between 73"72% 2N ©%0nn and 172y W*IPn, since °"WI maintains they are
similar?!

mooIn has an additional question:
— 09N D NI 70999 NI I

And furthermore why does the X723 ask on 27 (who said M7 1% XX 172y WIPNRI)

from the Xn>72 of @91 95 I (where it states that it belongs to w7p) -
— NP YYD Y M35T MY 7Y XY BN PYUYA MNINT ONNT

For there (in the case of the Xn>"2) where he used the term of 297, it is not

applicable to say that =»Kp wY7P 2 ¥7mY (for 071 has no connection to WITp oY)
therefore we can say he meant 1on°% w17p (like by a 78»Y 71n72) but when he is w>Tpn an 72y
where we can say Rp WP Q¥ 1A%, we say that M nD KXY —

NvOIN continues to ask on >"wo:
— 15’59 MNNAYY YTaY 19T YINT OYVNPN Y1999 139903 979 9NT 2IWN 9 TV

And in addition when the X713 answered that the Xn»92 of 091 95 X is discussing
a case where the master said "»7% explicitly, which according to >''w=°s [must]

mean that the master said, I am obligated to give the value of my mnown 72y

(only in that case do they not go free); the reason "W must interpret 77 in this manner is -
— m95nY INSS D919 DWITPN ONT

For if he was w>7p» them for their value (1529 ow>7p17) they would go out free -
— 9133 99aN7 IT2AN 1PHINAYI 172y NN INM 19 ON)

So if this is indeed so (that "»7% means merely *7¥ 1°'»7) then why does the &n>92
teach the case by his servants and nnew, even if they are the mndwY 0°72v of his
friend and he said *>v 07°»7, he is also obligated to pay 71"72 their value —

TR "1 771277, we interpret MY as MR X2, meaning there is a X7 if one transgresses these rules..
4 We cannot answer that 21 is not discussing a case where he said 1o1n°2 w1Tp, for then the X113 should have (also)
said R X7 1907 wTp (for that would justify s ruling [that there is no need for 17°79]).
15 See 7o KT A" "
16 See footnote # 6.
4

TosfosInEnglish.com



77913 77"'7 "0 2,17 PUUa 702

Moo continues to press his point -
— ) ©92¥1 PHNOYI 1TaY 129N DY NIV IND T

And also why are a%yi> different, even by 2%92w:7 »nmew »72y the law is also
that he must pay 71"72! This concludes Md01n questions on *"w7s.

In summation: NN asks on >"w7°5; 1. Why is there no 11°79 21°11 on the 72¥ if he meant/said w1 Tp
751 as there is by o0 0007, 2. How can the X113 ask from o9, there it cannot mean w7 ov.
3. If the Xn»12 of 0717 X is in a case of *%Y o7 then why does it need to be his slave, and 4.why
an "1y1> 72y it could even be an "2y 7av.

mooIn offers his interpretation of w>7p X7 7913 and aRp XY n7Y:
— 113 1P59Y ARNY 11PN M TANIN YONY e wITH Y 799 WADY AN

And the preferred explanation is that w>7p X 179973 means that his body will
not become N2 TeX like a nN»w w2 which was w27 where one

transgresses ;797 if he derives any benefit from her -
— NN NN NIDIN 72)01H2 1999N) XO9IN 19991 99y ox Yypana 199

And similarly by one who was w°7pn the ground, if he uprooted a spade full
and even if he derived benefit from the ¥7p while it is still attached, there still is
a prohibition (112771); however if he was w>7pn an 72y there can be no aRI7 MOX.

mMooIn continues when the X773 says -
— Paom9h wytn 1991 RNOYW 29nxp 8Y 1Y

He did not say "»7%; it means the master did not say that the body of the 72y

should be w7y that we sell it.”> msoin concluded explaining these two expressions ( X2 191

w7 and Rp K7 7172), and now continues with explaining the X773 -
-D09) INY 029N 195 NNINA YONID NYITP 11N RDANT DIN D19 999V 7299 NHWYN)

And now it is well understood that the X273 ask from 291 %> for we see there

'7 This is not like *"w"» that an T2y is not fit to become w1Tp (for the rmam or 71"72), but rather there can be no MOX
7R317 on the 72v7 7.
'8 Even if he said 79m% w1 there still is no 717 NWITP regarding X7 MOK.
' Generally by yp1p there is no 72°91; however once he uprooted the earth there is Xn» X7 72¥» and even if he
derived benefit from the ypp while it is 72w there is an (313277%) M0°X. Regarding 72y however there can be no
727N MOX.
0 According to Mmoo if the master would say that the 72y is 9% w17p, the 72v would not be freed.
*! This is different from *"w='0 who interprets 27> to mean 79 >72y 7.
22 mpoIn maintains that since the 72¥ cannot become X372 TOX w17 then we cannot assume that when he was
w>7pn the onoa 72v he meant 1217 WP, because since there can be no 7w17R in the 72V (so if he intended to be w>7pn
191°7), he should have clearly stated that he is 19%°% w*7pn. However by vpp) a2 where there is a possibility of
TRI7 MO°R (by 19m°% wTR), therefore even if he was ono w»7pn we may assume that it was 29m°% w17p. See NdOIN
"X (who mentions RnY 7172 and vpap after aRp X7 n79).
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that 7en7p takes hold of the mmown o°7ay that they become >*7x3772 770K like one

who is 27 the rest of his assets> -
— 09N PYYA YWITPNA 39599 KDY 199159 19110W 17Y 9INT 2IUN)

And the X3 answered that he said 7% meaning that they should be sold for

v7pn and we are not discussing that he was w>7p» them using the term 291, but
rather he was w>Tpn them 79n°> (which means n7%)> -
— 20331390 1PMNIYI 1PTaY XPYTT RN RNYN)

And now it is understood that this applies exclusively to 211577 o nITORN 172V -
— s131h 9INT 923 TN 75999

So the 8923 asked let us say that the other Xn>72 of 172137 X is also discussing a
case where he said 327 (meaning “on"> v17p) -

:2815\0 11991993799 NIN 11999 IWITPAY ININT 1NNTIAY INMI 129aT) 991 IN WM
And the X713 answered if so (that he was v>7pn them 12»°%) why are the 37213
involved here; whoever was wstp» the 0°72v for 1927 he will redeem them and it
will belong to him (and [only] he will be able to free the 72).

SUMMARY
>"w1 maintains 1272°% 172y w727 he is freed, while n19010 maintains he is not freed.

THINKING IT OVER

According to mooin that if one merely owns 7127 7°32 he cannot be 7 nwn the 72v,%
so regardless of 27, the &n»72 of 1772137 X is difficult, for 17n7°2Y X1 since they
only have a mn 171p. Why is the 87n3 asking on 2721%°

* mooin is answering the question he asked on *"wA (question # 2; see In summation).
* Why does 27 say w>7p X2 199 and M°RY X¥; since a wITR is 091N by 2°72v we can assume that he meant WITp
7019, just like xnw mnna?!
It does not however state clearly in the Xn™92 that they are X372 1 0K. Initially when we assumed that 27 meant
wnn 071, then we assumed that they are 7X372 2°710K like all a7 (as MvOIN stated 17031 XY a*nn3). However now
that he is merely 19%°% w17p there is no need to assume that there is an 7X37 0K,
% He can only sell (15%°% w>7pn) his own 2115 72v. This answers questions # 3 & 4.
" Why is it necessary to say that 27 argues (2991 X¥7 X0 27).
* If the 72y was 72»°> w177 the 7am may only sell him and take them money for w77, but the 7213 cannot free him
(so why does the Xn*912 state M7 N2 PPRYIT? PRWD 1°72137 PR, when it is obvious). In addition even those that bought
the 72y from w7pPn cannot redeem the 72y, since they only have a 1n PIp in the 72y (for that is what the original
master gave to w7pi) they cannot remove the 70X "7 of the 72¥ (that he is 2"v31 P71 n22 OKR). Why does the X012
state that M1IM2 IR PROXM °nX. Tt is only the original master who can free him if he is 779 the 72v from w7pn,
because he now owns the 717 1P and 0K of the 72v. See X"wnn. Therefore this Xn»72 cannot be discussing w17p
79m°%. The only option is that the Xn>12 disagrees with 27 and maintains that w17p 191 See following "X 7"7 'O,
¥ See footnote # 28.
30 See 3 NN
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